Basic C/C++ Programming Name:

Solution of Quiz 02

1. d0faffE C++ EE S EEEBEEHA G R x ?
a) int $x; b) Integer x; c) int x; d) Dim x e) integer x;
f) var x;

2. £ C++ f - 5 10 {EEEHF - PPLLEB g &0k (valid)HY ? (%3E)

a) int b) Jason's_age c) __cpp d) 9cats e) var_c++

f) Int g) 00XX h) ++-- i) myname j) my_name
Ans: int is a reserved word, ' is illegal, cannot use number at start, and ++
is an operator.
3. 1F C++ # > THEHERNEEZRGREF (reserved word, keyword) ?

a) int b) main c) short d) double e) long
Ans: You can use main as a variable's name.
4. BHFY C++ AYERE (variables) - A& FHE ?

a) SE—EESLE S (declaration) ] {#HEA] -

b) SEA A DMEE SN ARG ETY4A{E(initialization) -

c) HLIHALRE T (reserved word, keyword )& S8 fF -

d) TNUEIEIES 6 T Edmerstan - NHEH invisible HYRERE (scope) HEE 517

Ryib -

L # <iostream>
namespace std;
3vint main(){

int invisible = 10;
9;
cout << invisible << endl;

Ans: Scope FIE 7 {THYEFES 1L - R @4 4R -
5. ARy C++ HRAYFREE( (expression) Bl (statement) - {o] it ©
a) i (expression) RSN - HH - METHIAE 4 type AT value -
b) FiE (expression)iliigHTHR4ER
c) —(EBEI (statement ) & —{H5ZEL BT EETT -
d) R (expression) i Eor5FE1 A= (statement) -
e) # x R—FEEEE - ] Wb (statement) -
Ans: x fE—(E#E (expression) - bl x; (BB (statement) -

John EEcPi =l .
% 6~12 B2 HLTES int x = 3, y =1, z;
double £ = 3.5, g;

6. 1£ C++ f# » NI A& —(EFRE (expression) ?
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int x =3, y=1, z;
double ¥ = 3.5, g;

a) int b) x c) x +1 d) Ix e) x—
Ans: int 2RIF] > R 2 —{EFEzEX (expression)
7. 1F C++ > THNIEAZ R (statement) ?
a) int; b) x; c) X + 1; d) Ix; e) X--;
Ans: int; ANE[HET  AE—{EPERZE= (statement) -
8. KU (statement) [ 2 = y == x;|» BH 2 W{EEKZD 2
a) 1 b) @ c) 3 d) 2 e) BAMEHH - MELmE
Ans: z = (y == X);
9. YL TN (statement) BB x WIESEER S ?
a) o b) 1 c) 2 d) 3 e) 6
Ans: Without assignment, x no change.
10. &UBA B (statement) | g = y = £ 88 g MIEBNSD ?
a) 3.5 b) 3.0 c) 1.0 d) 4.0 e) BIIEHHE » MIEmS
Ans: g = (y = f);
11. €A 7RI (statement ) SRz MYEEES D 2
a) o b) 1 c) 2 d) 3 e) MEFHALE - MELRE
Ans: JZHNUIE xy HYEEL -
12. LTI (statement) |y = @ 2 1 2 2 @ 3 : 4] FH y WESHSD?
a) o b) 1 c) 2 d) 3 e) 4
Ans: y =0 ? (1?2 : 3) : 4;
By =12 (022 : 3) : 4

et PP P e .
H 1317 MHESFETES Y | int a=10, b =4, d = 5;
double ¢, e = 3.8;

13. & F bt (statement) [ ¢ = a / b;|» &8 ¢ MEERZ/D?

a) 2.0 b) 2.5 c) 10.0 d) 3.0 e) BAMEHH » MELmSE
Ans: a / b means 10 / 4 and results 2
14. IR (statement) | ¢ = (double) a / bj|» &8 ¢ AVESER /D ?

a) 2.0 b) 2.5 c) 10.0 d) 3.0 e) AL - MELGRE
Ans: (double) a is 10.9, and 10.0 / 4 == 2.5 // b promoted to double
15. &= (statement) | ¢ = a / (double) bj|» &8 ¢ AVEER /D ?

a) 2.0 b) 2.5 c) 10.0 d) 3.0 e) AL - MELGREF
Ans: (double) b is 4.9, and 10 / 4.0 == 2.5 // a promoted to double
16. 405 5Tt (statement) | ¢ = (double) (a / b);|- ¥ c MYEERZL/D ?

a) 2.0 b) 2.5 c) 10.0 d) 3.0 e) A - MELGRE
Ans: a / b is 2, and (double) 2 is 2.0
17. QO#7A IR (statement) BB d HEER S ?
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a) 3 b) 3.8 c) 8 d) 8.8 e) BAMEHH - MELmE
Ans: d =d +e; // d + e is 8.8 (d promoted), and since d is int, d gets 8
// (truncated)

5 18~21 BE 2 H AT - #include <iostream>
int OA
int a = 1;
std::cin >> a;
std::cout << ((a % 3 + 3) % 3) << std::endl;
return 0;

Ans: (((a % 3) + 3) % 3)
18. E{EHZE AR A 4 - # T Enter - &m LinE2 /0 ?

a) 1 b) 4 c) © d) 2 e) 3
19. E{EHZ H#Em A -4 > 2 1 Enter > 5% B2 %/ ?
a) -1 b) -4 c) © d) 2 e) -2

Ans: —1 =2inZ; » i finite group property, £*% Ch2 ppt p.53
20. HEMAEHMEEEA 0 » £ T Enter » TR EEtE%/) ?

a) 1 b) 4 c) @ d) 2 e) TERUFIHEME
21. AEAER#EEEA QQ » ¥ T Enter » &5 R /2% ? (Bonus)
a) 1 b) 4 c) © d) 2 e) 2= ILIEME

Ans: cin HYERPEIREIF(a HY type) => /K @ ZE4 a -

22. NHIUHEZEZE (expression) fiF true ({EIEO) ?
a) o b) !-1 c) ~-1 d) 11 e) ~1
Ans:
a) 0¥
b), d) ('IEZHVEF)RLE @ » ATLA¥
c) ~-1 = ~111..1 (32{# 1) = 000.0 (32{#0) = o ArLl%
d) ~1 = ~000.01 (31{#0) = 111..10(31 {# 1) -
let x = 111.10(31 1)  -x = ~x + 1 = 000..010 = 2, so x = -2 =0

23. AR RAM(Random Access Memory )l ROM(Read-Only Memory)Hygul N4I{o] & sEam 2
a) HE RAM fi1 ROM HERIETAI LA Random Access -
b) RAM EfEZ#MHY(Volatile) » ROM EFEHHEEEMAY (Non-Volatile) -
c) RAM RKIEFEFLELLACRFERL - ROM B @B Al fRFE RS -
d) B FEPrERAVEC RS AT 255 RAM » [AELE ~ B S EE ROM -
e) ROM A fy & Read-Only Memory - [RFLFTAHY ROM EAHER (Write) HAERE (X FHMERE) -
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Ans: EEPROM A[EE{H:HE -

24. [E> DRAM B SRAM [0t N %11{a] & TEHE 2
a) DRAM ZH[T#7 SRAM B - Ffi 50 18RS -
b) SRAM ZH[&H5 DRAM > 5 FE R EGEC IR RS <
c) DRAM &z SRAM P » 5 F flBERE:
d) SRAM ZE[E# DRAM - # Ffik mp3 fESHE -
Ans: BRE - B ST E ROM » B RAM JGRH % -

25. BARL Flash Memory (PREAGCIRAS ) YR ~51a) 7 TEHE 2
a) J&—f#& EPROM(Erasable Programmable Read-Only Memory) °
b) & —f& RAM(Random Access Memory) °
c) SLC(Single-Level Cell)N/mE— cell HZE—{& bit FrLAELE » MLC(Multi-Level
Cell)z .~ o
d) SLC(Single-Level Cell)EZA¥— cell HIE—( bit  (HRFHIRERA 2 fiE (0 5 1) 1R
ForHt > FTDARRER - e - ERCAR S S MLC(Multi-Level Cell)HIfZ -
e) H57A NAND Flash Eii AND Flash [ifd -
Ans: a) /& —f# EEPROM; b) /& ROM ; e) 7% K NAND Ei NOR Jif e

26. {1/ ZE—(#7%/g (Shell) ?
a) s=—{EHE C++ code {maERITIEAVRE -
b) E—{ETLLEHEAEA ssh & AR5 FEES (instructional server) -
c) e C++iEAVSLF4RiHES -
d) E—(EERFEHEGHTE S S -
e) &y EE & A input &R output -

ns: a) 4msxsgs > b) T{Fuk(workstation) ; c) vim
d) shell A EHPEEREINRS - 2 EHETEO1%E kernel (1% 1) ) SRENHEAS

27. AF Linux | - THIHETES4HE A LARTSE —(EE R a4 Ry hwl » B2 hwl_1. cpp #iiE
£7?
a) cp hwl; rm hwl_1.cpp hwl
b) 1s hwl; cp hwl 1.cpp hwl
c) create hwl; put hwl 1.cpp hwl
d) mkdir hwl; mv hwl 1.cpp hwl
e) makefolder hwl; move hwl 1.cpp hwl
28. {f Linux b - QAT CH++aB S HYSm e dmae —(E U main. cpp ARG ZEN0 (5 A AR HYBT TR HLIEL
color2rgb M ~NETERAY a.out ? (#Fi#EE)



a) g++ main.cpp
b) g++ main
c) g++ main.cpp; mv a.out color2rgb
d) g++ main.cpp -o color2rgb
e) compile main.cpp -output color2rgb
29. f£ Linux [ - Aa[ShTT g++dmae (& THE A VT THE 7
a) ./a.out
b) execute a.out
c) a
d) run main.cpp
e) ./main.cpp
30. f£ Linux b > fEFTEOFTE—F 5% tab A LIERI ?
a) Hifk e
b) AT -
c) H#5eE(auto completion){g< -
d) fHEERYEAETE < -
31. {f Linux b - fEFTHESF % 1 A] DARRff 2
a) BT B -
b) AL -
c) BUR E—(EFTEuiE< -
d) B E— S MEVENERERETTIREE
32. f£ Linux | - NHI{a[EHEER ?
a) ./ EETHEERK -
b) ../ (ARE TIEERKH E—B&ERIK -
c) ~/ UFEIRE# -
d) #HEH . FHEIVEESERICERRY -
e) * (UERZERICTIrAEREERK -
f) cd .. B cd - BEFEMEF - HBEEF E—JEERK -
Ans: cd .. EE[ E—JE&ERK (%F Windows " B )0 cd - Z6l E—EREH (FFE
Windows " F—H )

33. 7 Linux b A0 IR A5 enter (UREFFIES (e.g. % g+ main.cpp) 2 (i)
a) —Hi#% backspace 5 delete fHFEMEE -
b) Ctrl-u
c) Ctrl-w
d) 1
34. 7F Linux I » TERIREE T enter BY86THE S BBk By TAIRES 7
a) EECHTIRVIESIARER
b) 1



35.

Ans:

36.

c) history
d) Cctrl-u
f£ Linux E o WMER SR QR TaEME 2
a) #
b) %
c) //
d) ;
% is a prompt, ; fUR—EERZ(FES)HIEER, // & CH+EITHE

A vim BRI > RIS 2

a) 4% Vi-IMproved - B —fHAICF4RiEES

b) AN F4REEEs (Modal Editor) -

c) I%ﬁ‘ﬁlﬁ@ﬁﬂﬁﬁﬂ%@ 51550 (Command Mode) Bifgi Af55X (Insert Mode) -

d) 5T i— i iRAURe ) - SCFavE s - EE S AR E - BRI A ELETT
%ffﬁﬁ T T FrA TRy A E B RS 2 A -

e) $# Esc fEfi AfEZ((Insert Mode)Bilf5 <155 (Command Mode)  [HIffiU]H#A -

ns: % Esc (i AfE T (Insert Mode)[H[E[F5<5 15 (Command Mode) » 7 1 {¢f5 1=
(Command Mode) =% A= (Insert Mode) -

37.

38.

Ans:

39.

£ Vim fyFE <15 (Command Mode) |~ - AMAIEUIARAY B N /A2A188) 7 (#55E)
a) wra-s~d
b) h~j-k-1
c) u~d-~1-r
d 1t~ | ~<—>—
£ Vim {515 (Command Mode) T » A/ HIERIFATEIZHY 10 f[EEF 2
a) diew
b) :delete 10 words
c) dddddddddd
d) 10w:Ctrl-D
e) 1edd
e) Juil 18 17

£ Vim BUFE 51 (Command Mode) T - 4 iRFFSE EREBEEITERE 7
a) gg
b) G
c) 1
d) t

ns: a) BPkEFEFHIE



40. 1£ Vim 1545 (Command Mode) T > #faf#=47 main IYFTAE T ?

41.

Ans:

42.

43,

44,

45,

a) /main
b) :main
c) :search main
d) /search main

AR 5IRE] 3 (EE main (VBT FPBRAEEAESE —(ES main VBT > ABEE T —(E S

main HYEESE ?
a) n

b) N

c) Enter
d) |

e) —

b) BEE| E—(EZ main HYES

1F Vim B3 AfE=L (Insert Mode) T » 4{a[{#a £ 5515 (Command Mode) ?
a) Esc

b) a

c) i

d) :command

e) ¢

{£ Vim ({5550 (Command Mode) T » AfAI{FAEALEERH © (#158)

a) Isx

b) :wg

c) ZZ

d) :w :q

e) :save :quit
f) :sq

g) Ctrl-U Esc Q

h) Ctrl-S Ctrl-Q

£ Vim By 515 (Command Mode) T - 40{aff]BAzE/ A= 7eisE (syntax highlighting) ?
a) s Esc j

b) :syntax highlight

c) :syntax on

d) Ctrl-s Cctrl-H

e) Esc s h

£ Vim ff51H3 (Command Mode) T » Z{A[E/RTTHE ?
a) :set linenumber

b) :set no



46.

c) :set nu

d) :set 1ln

£ Vim # > AR RE RN TBASUR TR B A = e D RE ?

a) RHESLUCF T FER H ik ME I vimee AYSCFAEE

b) HBHECLICFITRIFEZ H ik (GFRE #%) TR . vimre By SCF AR
¢) BHESCLICFITRIFER E & TN vimre FY S AE AL

d) eSO RFAEZ H 8% GHR B #%) TRERAUMS vimre B0 HE#E



